EARAZROREIERT — 2 N— XBISY —F 2020528198 (k) 20@I%4A3H

M >%RC 134 7% — (RE] % | [Ewml — | & (&) 14000 &
X
[xE£] 1 %:240,000  2#%:56,000M”  3#%&:24,000M  43%&:17,000 53#:12,000 M
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N NP 4 ‘gﬁ_ﬂaﬂﬁ*ﬂ 1:(2_9).4 6-4-4-3 |38.5| — | 2 :936) %ﬁ;@% (%12)
:E¥r7FOvY BieArvITLA EaK B—
o o KBt :30. -2-1- . — HEET (A
ol5|5 | LrvRAS it 4 LB 1&0)3 2-2-1-1 | 39.8 1 ig; bt A
R:yrpin B:IFAT7RH alllt e
- - — FILE— :30. -3-2- . - FREBS (BHE)
sWl 6| XV /TALTH '8 56.0 1(320>7 Foze 402 ! ﬁg () k=257
RG24 E—T B:LHhTT7 FE &
N o TR : -8-8- — REEE (1)
alzl 7| b= T r 8= i 5 L 1.(310).9 8-8-8-8 | 39.0 6 z:g;& i A
L:ib—t>Trobh Bib—trTFrA—0 HRSHE IXF177—L4
s s = FIARI 1:31. ~4-5- 40. — 7 4 PIEEAR (5544)
5 | A1 Yay k=7 5 54.0 (33/4>0 S4os 40.0 (_346) RESE :
RixAagR—=—5— B:x14oa3HNNb R B AR AR S
- ¢ it 5 | ABRER 1:31.0 7-7-6-6 | 39.7| — 8 435 | TEAE= (%)
6lglg|=ahb/Y 54.0 (NF) () |®mEFEA
g/ v T B:7zT7Y—NI EvJLy RIT7—L
s KA = :31. -9-9- . - SEEe (BEE)
711101 thH K3y b % 4 54.0E 1(31])2 5999 %8 s (4_126) BREZ
LN=HINK B:T77T—FK—=F— =R 45
= 4 7 | BIAKIE 1:31.4 4-6-7-7 | 40.0| — 5 397 | BAIRA (%)
glglg|77T *50.0 (1 1/2) (-p) |IEEEREAN
RiFA—TANA B:YIF1>IXT b INHINHT 7 =L
®IME 1:31. 1-1-3-4 |41.2| — 4 EEER (51)
N . BEPEE: "8 R0 o ’ TS | mas
TV AXIN B:oay ) /RKRIR AR

@ 11— —EBIRfL

12=7r= 3,5,6,8,2,4,9,7 1

23=3 = 3,5,6,(2,4),8,9,7,1

P =zr= 5,6,3,4,2,9,8,7,1

43—7F— 5,6,4,3,2,9,8,7,1

o ILRE

BB 4 690M 74 I8 4-5 130H B & 4-5 280 &R 4-5-6 330M

7 B 4 100M 4-6 210M 5 & 4-5 250M 3EH 4-5-6 3,880M
5 100M 5-6 180M BB 4-5 850H
6 130M

ARICOVWTRDTEEERROODE. TR LI,



